Class Example p. 107 for Kasiski Test
Example 19: 
HLUBNWFSFKIGIHMGBSIMMBSEJMAFUTQECIILJSUBBAXMAJCWXCMBSGZGGSMKBHUQBETVUSMLMERCFDTWUBASWERFIELOMVYSIMMYYEDDMMSGZANCOFYYTIHLJRYOHKLOFHIEFKQOFAAIZGIEJHAKNZJSQRUQXDKWHSNNFAOUMOROFAAIZPIQYHQFYSWEFKILDPQGIXUEADFWNNFVYOTRXRGQKRUSHVYHAGYONTTZISIEPUOFXAZRNZTSQKBGIISMIMIISMIMXHAHUFZNMFGWIMMBQWQLTSMZTUXRBSAEMFGWIHUAMWQFFVCKNSMTIJYYRCOJRASBOEYHQAIKYPAKYJKUXVUFIGGBCFYHQKIJQDFVULBOGZXTQOIMIMWHQOXUQEMBIXKYAIBSAEFCUKPYAILKJLRRIQTURSYDQUOYSOJLXRIQTUBIHC

6.4 Exercises
1. For each of the following ciphertexts, assuming the cipher that produced the ciphertext is a Vigenère keyword cipher, use the Kasiski test Maplet to estimate the length of the keyword. Compare your answers with the estimates you found with the Friedman test.

(a) 
SCZOPCOIFFBOMTVBFBHZOGFBDPJFIJISCSLHVQEGPZISTSSBHZOHEIWJFPXRORPITPBAQFWWBWRORJVKJBQLVUVFVUNCSMVUVBRYFTLYXIHXVLTGFEEJBQLVGCRVKIALZZFOKEDBHBYIJBQLVGWCXYNCSMVBBAJZOOIPPBHEVVFFLYEESULZCWQMFOWKXYFGFBKIALZZFHEIJFALZZFGQYIOSAWPMJBWKFFPXRMZLRVJBQSRXSIPBOCTRRDHLV

(b) 
PAPCPSRSICRKILTGYFXGETWAIJIUPGRLTGHACMOQRWXYTJIEDFNVEACZUUEJTLOHAWHEETRFDCTJGSGZLKRSCZRVLUPCONMFPDTCXWJYIXIJHTTAMKAZCCXWSTNTEDTTGJMFISEGEKIPRPTGGEIQRGUEHGRGGEHEEJDWIPEHXPDOSFICEIMGCCAFJGGOUPMNTCSKXQXDLQGSIPDKRJPOFQVVXYTJIEDFNVEACZUUEJTLOHWGJEHYIKIPRPZAGRIPMS

(c) 
FWPSIDTSAGSDODYMGYUIPXJRSGLPXHHQSECTHRJVACNMCYSLTHMCIRKTSAAYDBPWNJSZSOJUGLUELYBVWEUXGYEXNOOTYFXYAEXIHRURTLBGXYIDRYNRJTZYBREMECFARTVRDTHVJPOFLIGSRFFSYEECYZZLRFVTEJLBJWIYYBRGRSVJNGLRNOTCAKKHPJOYSXY

(d) 
EVKEFXYELZXTZUKMGKLEWUIPREMNWNVIGKLCWHKYKPEPWLJSGEEMWXKLHDESTYRPXSYRAYUKHCHAFXAIPVPSOIIXARLUYYJYFFJMGHVCGVERTYUJHIHVALXMGZEBWUCIXEGRQJKIWKLEDITEMZSNGZKLXKVESMLVXRRDANJFXEIFSWKSKJMNLBIIXUSCMGVRMJSNDSFRXFJTZYJIWFGUEYEXLYESWPVVUVINVYTVRGXEVNYIXEGRQJKIWUSCMGVRMFYTDCEMGXXHWJIIVZWEDITEMZSNGZKLXKVESMLVXYESFYMIKSIEFXVGKPTTWXVZXEXHGOXLFRRYHYFTEVMNUFLHBEKSGGVJKFQTZYEWTYEVWNIMXU

(e) 
JZQSDCWZJHDUJZQDGSQDQJZQTCDGJJUTLYERECDXLERQOEDKURCCRP 

RJQNJZQDENCUQNCGURCRPQRJQNJZQLCWZJHMLHERNRECGOCJZCRPQRJ

QNHEGIQJHELL
